
3
0

30

ESC 1:20

0

-40

-120.0 - L1

E
S

C
 
1
:
2
5

P1=P2=P4=P5

4
0

3
 
N

1
 
c
/
1
5

4
 
N
4
 
ø
1
2
.
5
 
 
C
=
1
1
2

20

4
0

5
5

3 N1 ø5.0  C=112

25

25

5
0

50

ESC 1:20

0

-45

-120.0 - L1

E
S

C
 
1
:
2
5

P3

4
5

3
 
N

2
 
c
/
1
5

6 N3 ø5.0  C=60

6 N3 ø5.0  C=60

1
2
 
N
5
 
ø
1
2
.
5
 
 
C
=
1
1
7

20

4
5

5
5

3 N2 ø5.0  C=192

45

45

N3

N3

3
0

30

ESC 1:20

50

0

-70.0 - L2

E
S

C
 
1
:
5

P1=P2=P4=P5

5
0

4
 
N

1
 
c
/
1
5

4
 
N
6
 
ø
1
2
.
5
 
 
C
=
1
0
5

5
0

5
5

4 N1 ø5.0  C=112

25

25

5
0

50

ESC 1:20

50

0

-70.0 - L2

E
S

C
 
1
:
5

P3

5
0

4
 
N

2
 
c
/
1
5

8 N3 ø5.0  C=60

8 N3 ø5.0  C=60

1
2
 
N
6
 
ø
1
2
.
5
 
 
C
=
1
0
5

5
0

5
5

4 N2 ø5.0  C=192

45

45

N3

N3

3
0

30

ESC 1:20

50

10

-70.0 - L2

E
S

C
 
1
:
2
5

P6=P7=P8=P9=P13

4
0

3
 
N

1
 
c
/
1
5

4
 
N
4
 
ø
1
2
.
5
 
 
C
=
1
1
2

20

4
0

5
5

3 N1 ø5.0  C=112

25

25

3
0

30

ESC 1:20

120

50

0.0 - L3

E
S

C
 
1
:
1
0

P1=P2=P4=P5=P6=P7=P8=P9

7
0

5
 
N

1
 
c
/
1
5

4
 
N
7
 
ø
1
2
.
5
 
 
C
=
6
7

6
7

5 N1 ø5.0  C=112

25

25

5
0

50

ESC 1:20

120

50

0.0 - L3

E
S

C
 
1
:
5

P3

7
0

5
 
N

2
 
c
/
1
5

10 N3 ø5.0  C=60

10 N3 ø5.0  C=60

1
2
 
N
7
 
ø
1
2
.
5
 
 
C
=
6
7

6
7

5 N2 ø5.0  C=192

45

45

N3

N3

3
0

30

ESC 1:20

120

80

0.0 - L3

E
S

C
 
1
:
2
5

P10=P12

4
0

3
 
N

1
 
c
/
1
5

4
 
N
8
 
ø
1
2
.
5
 
 
C
=
5
4

20

3
7

3 N1 ø5.0  C=112

25

25

5
0

50

ESC 1:20

120

75

0.0 - L3

E
S

C
 
1
:
2
5

P11

4
5

3
 
N

2
 
c
/
1
5

6 N3 ø5.0  C=60

6 N3 ø5.0  C=60

1
2
 
N
9
 
ø
1
2
.
5
 
 
C
=
5
9

20

4
2

3 N2 ø5.0  C=192

45

45

N3

N3

3
0

30

ESC 1:20

120

50

0.0 - L3

E
S

C
 
1
:
1
0

P13

7
0

5
 
N

1
 
c
/
1
4

4
 
N
7
 
ø
1
2
.
5
 
 
C
=
6
7

6
7

5 N1 ø5.0  C=112

25

25

Relação do aço

-70.0: 4xP1 P3

5xP6

-120.0: 4xP1 P3

0.0: 8xP1 P3

2xP10 P11

P13

AÇO N DIAM
Q

UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 94 112 10528

2 5.0 15 192 2880

3 5.0 60 60 3600

CA50 4 12.5 36 112 4032

5 12.5 12 117 1404

6 12.5 28 105 2940

7 12.5 48 67 3216

8 12.5 8 54 432

9 12.5 12 59 708

Resumo do aço

AÇO DIAM C.TOTAL

(m)

PESO + 10 %

(kg)

CA50

CA60

12.5

5.0

127.4

170.1

134.9

28.8

PESO TOTAL

CA50

CA60

134.9

28.8

Vol. de concreto total (C-20) = 1.67 m³

Área de forma total = 19.44 m²
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